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FIGURE 1 

 

 

 

 

 

 

 

 

 

 

 

 

 [                                                
                                           ]  

   [                                     
                                                 ] 

Discrete case: 
(a) E(Total Surplus)=∑         

 
   , 

(b) E(Slack) = ∑   
       

 
   , (c) E(Net Profit)=0,  

Continuous case: 

                     ∫    
  

  
    

  

 

  

             ∫ (  
  

  
 )   

  

 

, (c) E(Net Profit)=   

Discrete case: 

(a) E(Total Surplus)=∑         
 
   , 

 (b) E(Slack)=∑          
 
   , (c) E(Net Profit)=∑          

 
    

 [For shown case, at          
    

  
             

E(Net Profit)=0.1875,  E(Slack)=0.030,  E(Total Surplus)=0.2175]  
Continuous case: 

(a) E(Total Surplus)= ∫ (  
  

  
 )   

  

 

   

(b) E(Slack)=∫    
  

  
    

  

 

                   ∫    
  

  
    

  

 

 

[For shown case, at                     
E(Net Profit)=0.1875,  E(Slack)=0.03125,  E(Total Surplus)=0.21875] 
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[For shown case, at                         
E(Net Profit)=-IC, E(Slack)=0.75 , E(Total Surplus)=0.75-IC] 
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E(Net Profit)=0.562-IC, E(Slack)=0.09, E(Total Surplus)=0.652- 
IC] 

Continuous case: 
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[For shown case, at                                  
E(Net Profit)=0.5625-IC  ,  E(Slack)=0.0937,  

E(Total Surplus)=0.6562-IC] 
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FIGURE 1 (Continued) 

Panel E: Different Forms of an RMS that Can Generate Equal E(Total Surplus)  
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FIGURE 2 
 

Panel A: Timeline when an RMS is Absent 
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FIGURE 3 

 

Theoretical Prediction (Hypothesis 3) – Ordinal Interaction Effect 
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FIGURE 4 

Experimental Procedures 
 

                 Pre-Experimental Steps                        Actual Experimental Steps                                                                                                                            

                                                                                      (For the 1
st
 Period, repeated for 10 Periods) 

 
 

 

 

 

 

 

 

 

 

1. Participants read the instructions 

2. Participants answered an understandability quiz 

3. Participants worked through 2 practice periods 

(Practice the roles of both owner and  manager) 

Owner Role: 

Exogenous RMS Assignment: Made a coin flip                                                

Endogenous RMS Choice: Chose whether to invest 
in an RMS. 

Manager Role:  

a. Learned the presence of an RMS (No, Yes). 

b. Learned the actual cost. 

c. Prepared his budget and submitted it to the 
owner. 

4. Participants read the rest of the procedures 

(Description of the strategy method) 

5. Participants worked through one practice period 
to ensure they understood the strategy method, 
then, they learned their roles (owner or manager) 

1. Participants were matched into dyads 

(one owner and one manager) 

2. Owner: 

Exogenous RMS Assignment: Made a coin flip, 
then learned the oucome: RMS present or 
absent. 

Endogenous RMS Choice: Chose whether to 
invest in an RMS (No, Yes). 

3. Manager (the strategy method): 

a. The manager's screen generated an actual 
cost assuming the RMS is absent. 

b. Manager prepared his/her budget. 

c. The manager's screen generated an actual 
cost assuming the RMS  is present."  

d. Manager prepared his/her budget. 

4. Managers learned whether the RMS was present. 

5.  Managers submitted their budget reports to 
owners, and payoffs were determined for the period. 
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FIGURE 5 

Average Percentage of Honesty for the Five Equal-Cost Periods by Condition 

(Controlling for the Total Available Slack across the Four Conditions) 
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FIGURE 6 

 

Average Percentage of Honesty by Period over Time 
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FIGURE 7 

Proportion of Managers’ Cost Reports within the Favorable Cost Range {4.00,..5.00} when 

the Realized Costs were within the Favorable Cost Range for Equal-Cost Periods  

(Controlling for Available Slack across the Four Conditions) 
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TABLE 5 

 

Supplemental Analysis 

 

Panel A: Simple Main Effects on Average Percentage of Honesty
 

Comparison df t-stat p-value 

Effect of RMS Presence within Exogenous Assignment: 

Exogenously Absent RMS vs. Exogenously Present RMS 
19 2.39 0.01** 

Effect of RMS Presence within Endogenous Choice: 

Endogenously Absent RMS vs. Endogenously Present RMS 
19 3.73 <0.01** 

Effect of Endogenous Choice within Absent RMS: 

Exogenously Absent RMS vs. Endogenously Absent RMS 
38 1.02 0.31 

Effect of Endogenous Choice within Present RMS: 

Exogenously Present RMS vs. Endogenously Present RMS 
38 1.50 0.07* 

 

Panel B: OLS Regression of Average Percentage of Honesty – Endogenous RMS Choice 

Treatment 

Independent Variable 

Model 1 

Endogen. Present RMS 

Model 2 

Endogen. Absent RMS 

Expected 

sign 
β 

p-

value 
Expected 

sign 
Β 

p-

value 

Intercept ? -0.55 0.14 ? 0.07 0.74 

Investment (Noninvestment) is a signal of trust (distrust) + 0.09 0.14 No sign 0.07 0.11 

A desire to reward (punish) the owners’ trust (distrust) + 0.11 0.01** No sign -0.03 0.38 

Adjusted R
2
  0.35   0.15  

 

Notes: 

Panel A: For within-subject treatment effects (the first two comparisons), the tests are paired t-tests where each 

participant counts as a single independent observation. For the between-subject treatment effects (the last two 

comparisons), the tests are two-sample t-tests where each participant counts as a single independent observation. 

Dependent variable: Average % Honesty (participant-level measure) = 1-(slack claimed ÷ slack available) averaged 

across the five equal-cost periods. The use of equal-cost periods controls for the total available slack across the four 

conditions in the analysis.  

Panel B: Model 1: Regression of Average % Honesty in the Endogenously Present RMS condition on responses to 

the two exit questionnaire items “When corporate headquarters managers decided to change the probability 

distribution of costs, they decided to trust the division manager” and “When corporate headquarters managers decided 

to change the probability distribution of costs, division managers felt that they needed to reward corporate 

headquarters managers for trusting them”. Model 2: Regression of Average % Honesty in the Endogenously Absent 

RMS condition on the two exit questionnaire items “When corporate headquarters managers decided to keep the 

probability distribution of costs, they decided not to trust the division manager” and “When corporate headquarters 

managers decided to keep the probability distribution of costs, division managers felt that they needed to punish 

corporate headquarters managers for not trusting them”.  

**, * Indicate statistically significant at the 0.05 and 0.10 levels, respectively, in a one-tailed or two-tailed test. 

Reported significance tests for directional predictions are one-tailed and are shown in bold.
 

 


